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S3

Dylan’s car can travel up to 27.7 km on one liter of gas. If the tank holds

13.5 liters of gas, how far can he travel on one tank of gas?

Joe’s pumpkin is 2.5 times heavier than Jason’s. If Jason’s pumpkin has a mass

of 5.8 kg, what is the mass of Joe’s pumpkin?

To !ll a pail, Wilmer needs 8.35 L of water. How many liters of water will

Wilmer need to !ll 7.2 pails?
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2) SNatalie earns   11.92 per hour, working as a part-time receptionist. If she worked

37.5 hours this month, how much did she earn?

There are 2.54 centimeters in one inch. How many centimeters are in 28

inches?
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